AN

Tl
>

1. ¥4
kG4 TN 6 LT LD B THS FT /K SCRLRIFT U M OVE BB 365
BT AT SRS B ST N

2. EHEAR

1) FHEI4 SCILEPEE ST R A R
2) AT 364 HFH H &
B 40

64 4H 2H
T4 3H31H

3) AL
AT, AKSCBUNZEFS IR BT & SEILRDBG 38 AT N O /K ST O LM
RS K OB R OHER R OVEFR O 723D . BEEROIRST SRR, sk OHERFRE . /K
SCERIOBEHEZITH L O TH D,

4) EBNE
ACSCBURIFTORSF mide —2U ACTE R —, BUAIITHERAE  —3 K3
AR OER  —X

=R oS KN o723 S



PR NERE

EBA | D06 RN LA S S AT A SCELEIFT U B OV ks 25 B e 25
H H AR S
THH - TR - R H AL % & 4 #H E T N
IR AL X 1 9, 546, 314
IR ST (R 5T A5 2V 1 6, 447, 738
RSB FTOR ST AR 2V 1 6,447,738 | EH-EYE(E
1 £¥%
R
1 =X
B RS
a1 H1 (EH=X
TEWRST SR

(11 )1 (ED=
FNERF : 2, AKAEF: 4, O : 5
TE R ST SR
6 )1 (=X
R : 1, Fofh: 2

TE PR ST AR

(5 )1 (B
MRt : 6, KAE: 2, ZOfM : 2
TE LR ST SR

4 )1 EH=
WaEEt: 2
TE LR ST SR

(3 )1 (B
::i% 01
TE LR ST SR

2 )1 (B
ZOM ;1
TE LR ST SR

(1 )1 (Eh=
BT BL 2

1 BN

-1 - Etzz@y  AbkEt 5w R



EFss | D06 AEEENT LIRS B FE T K SCELRIET SR K OV BB 3 5 w T—
H H KL
A - LfE - FER) AR ¥ & & A BN RR
AT R
a 1 EH=R
ER: 12, KAEH: 6, ZOfh
10
AHPRIC L D EFOME - =
1E3 28 =
BRIFT AR 5 B
2 BT
B R
1 e
KSR e 1 1 372,376
IRSCE R eV 1 1,372,376 | FHEiE(
1 e
FBLHIE DOWISEFZE #a
1 =
4 BRI
B OWISEFZS #a
1 =
7 BT
B OWISEFZS #a
1 =
2 BT
B OWISEFZS #a
1 =
1 BLAT
FEUE R AT
1 =
M 2 BT, KO 2 BUIAT
T HE A AT
1 =
B 7 BT

-2 - Etzz@y  AbkEt 5w R



A NES
H A PNER S
WA | BN 6 RS LADBA S T K SCBLRIFT e B OV B B 2 7S ER B2
H H R ST
EERER R % % AN R

FEUERA AT
1 =
M 2 BINET
FEUERR AT
1 =X
M 1 EINET
WAt E B OVER
1 =X
e 1 28AAT. KA S BLAIET
WAt E B OVER
1 =X
RES, ME2, Am2, JEEH2, it
3., i 3EMET
T EERL
1 k%
IKSKE T — B = ARk
2 =]
TR TR i =X 1, 642, 200
LN (e =X 1, 430,000 | BUNIFTHERFHT S
1 =
KRG T — X BEEERE - Wk = 212,200 | KRBT — X EFHEEHRE - HE
1 =
IKSCEEATE R D ERK = 84, 000
KRB RO VERK = 84, 000 | K CEEAEEOIER
1 =
S = 269, 700
bS] = 269, 700
o = 269, 700 | ¥IAH
-3- E sz Jbkbe 75 R



=
=

it
T
iy
%lljll

EW4 | B 6 AEEESTILRD B S T K SUBLAIFT sk B OV B P 3675 E i BB
H H Him
TEHA - LfE - R =AY VA % & 4 A Wl B N R
1 =
FRIFTEE 40
[R5 2V 1 1, 229, 659
RS T¢ 2V 1 761, 659
i AL 2V 1 631,659 | it (FEtE - BmIAH)
1 =
HY - figiakt (GRASATE)
1 K
%%Eﬁ%u%{?ﬁi% it: 1 130, 000 %%E}Z%Dﬁ%ﬁzﬁi%
1 K
REGT —HWEEEE L H VB LD oy 1 468, 000
WEE
RRT —HEEHEEL 2 VB R DY oy 1 468,000 | [&ET —HBIEHE L ¥ VEH LD
HEE HEE 1 K
[EXERIFSE = 1 11, 045, 673
GiEERIIESEE ¢ = 1 7,234, 327
At = 1 7,234, 327
Milf=er i X 1 18, 280, 000

4 - Etzz@y  AbkEt 5w R



